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realmCode 1..1 I AAS , "CN" R 3= o [
SCRY AR R L 545 {8 @ root="2.16.840.1.113883.1.3",
typeld 1..1
@ extension="POCD_MT000040"
R AR g5 OID, Ho
templateld 1..1 )
@root="2.16.156.10011.2.1.1.21"
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id/ @ extension H
| —add = BE R BEAERE, FP s @ use="H" Cha U H 1k 28 5] 14 1K
--|--addr .
[ED)
[--| - [-houseNumber L1 | k-] 5 1 DE02.01.009.06
[--| - |—-streetName L1 | A ik R L B 5755 DE02.01.009.05
|- |- |—township 1.1 |Hihk-% GR FE R DE02.01.009.04
|—|-—|-—county 1.1 | Hbhk-8 (X0 DE02.01.009.03
[=|-=|--city 1.1 | Huhk-T Gl XD DE02.01.009.02
|[—|—|-state 1.1 Mtk (A XK EH BT DE02.01.009.01
[--]--]--postalCode 0..1 | MR B 2 DE02.01.047.00
|- |-—telecom 0..x | BEBARBIE DE02.01.010.00
. HBENANEAE S, H A @classCode="PSN",
|- |--patient 1..1
@determinerCode="INSTANCE"
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|- |- |-—-maritalStatusCode 1..1 DE02.01.018.00
(@codeSystem="2.16.156.10011.2.3.3.5"
, ‘ R BT GB 3304 fR AR 3op
| --|--]—ethnicGroupCode 1..1 DE02.01.025.00
@codeSystem="2.16.156.10011.2.3.3.3"
|--]--]--employerOrganization 0.1 | TAEHAL
[-=[-|--]-name L.x | TAESA AR DE02.01.004.00
[--[-[-|-—telecom T | AL TR DE02.01.010.00
|--|--|--occupation 0..1 | B F ORI
. HEAP 28 5405 , o @ codeSystem= "2.16.156.10011.2.3.3.13",
|—-]--]-—|—occupationCode 0..1 . DE02.01.052.00
@codeSystemVersion="M IR (A~ A B O AT 5"
SCRYBIE R B8 (E : @typeCode="AUT",
author 1.. %

@ contextControlCode="0OP"
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id/ @ extension H1
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id/ @ extension H1
|--|--|--name 0.1 | PR DL A K
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|--|--code 1..1
|--|--addr & N Hhtk
|--]--]-—-houseNumber Ho k-1 M5 DE02.01.009.06
|--|--|--streetName ARl dk - (Rl BB L TS DE02.01.009.05
|--[-[-township k-5 BB IE I AL DE02.01.009.04
|| —[—county Hi k- B (XD DE02.01.009.03
| —|—|—city Ho k- (kb XD DE02.01.009.02
|--|--|--state Hihk- CHE X E R D DE02.01.009.01
||| —postalCode 0..1 | MR B 2 1 DE02.01.047.00
|--|—telecom 1B & LS S A DE02.01.010.00
Hr kA H @classCode="PSN",
|--|--associatedPerson
@determinerCode="INSTANCE"
|--|—[-name 6 & N k44 DE02.01.039.00
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component TR EAATETRTE
|--section
code S B = A B AU, o @ code="30954-2",
(@codeSystem="2.16.840.1.113883.6.1",
|--]--code 1..1| R
(@ codeSystemName="LOINC",
codeSystem @displayName="STUDIES SUMMARY"
|- | —-text N
|--|--entry Mm% H
classCode
|--|--|--organizer 1 21 A
moodCode
||| —statusCode REAR A&
[--|--|--component 1..1| R
classCode ) _
' ABO 1 # #8545 , H if @ classCode="OBS",
|--|--|--]-—-observation
@moodCode="EVN"
moodCode
ABO I B, Ko
|—|—|-—]—|-—code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE04.50.001.00
@ codeSystemName=" T4 {5 & § ¥ oc H 3"
ABO i BUE . H b 45 E
@xsi;type="CD",
|||~ || —value 11| R P
(@codeSystem="2.16.156.10011.2.3.1.85",
@codeSystemName="ABO Jfif ZI{CFLFE"
[--|--|--component 1..1| R
classCode Rh ffit B 545 , Hotp @ classCode="0OBS",
|--]--]--|--observation ]
moodCode @moodCode="EVN"
Rh ifi B2 AR5, I
|—|—|-—]—|-—code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE04.50.010.00
@ codeSystemName=" T4 {5 & £ ¥5 oc H %"
Rh 1 78 {F , H b e (5
@xsi;type="CD"
[—]--|-—-]-—|-value L.1} R
(@ codeSystem="2.16.156.10011.2.3.1.250",
@ codeSystemName="Rh Jfii HIfCHL "
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component E%ffﬁ"iﬁ%*ﬁﬁ?
|--section
code WeAE s 235 01 . Hof @ code="11348-0",
displayName (@ displayName = " HISTORY OF PAST ILL-
|--[--code 1..1] R |NESS",
codeSystem @codeSystem="2.16.840.1.113883.6.1" ,
codeSystemName @codeSystemName="LOINC"
|| —text N
‘——‘——entry %&ﬁi(ﬁ&b’ﬁ])%a
) classCode Hd, @classCode="0OBS",
|--|--|--observation
moodCode @moodCode="EVN"

WE A s AR, Hovpr
[--|--]--]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE02.10.026.00

@ codeSystemName=" T4 {5 S 5 #ioc H 7"

|—|--]--]- value L.1| R |HH 54 H@xsi:type="8ST"

|—|—-entry e g sh 2% H

classCode Hif, @classCode="0OBS",
moodCode @moodCode="EVN"

|—-|--]-observation

& e A, Hop
[--|--]--]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE02.10.008.00

@ codeSystemName=" T4 {5 S5 c H %"
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[--]|--]--]-- value 1..1| R |HPp A EH@ xsi:type="ST"
|--|—entry FARLKH
classCode H i, @classCode="0OBS",
|—|-—]-—observation
moodCode @moodCode="EVN"
FAR S A, Hop
[--|--]--]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE02.10.061.00
@ codeSystemName=" T4 {5 5 c H %"
[--|--]--]-- value 1..1| R |FH sk H@xsi:type="ST"
|--|-—entry BHEL&H
classCode 1, @classCode="OBS" ,
|--|--|--observation )
moodCode @moodCode="EVN"
S LA, Hep
|-=|-]-|--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE02.10.098.00
@codeSystemName=" T4 {5 S5 #E 75 H 7"
|—|—|-—]-—- value 1.1] R | HPHAH@xsi:type="ST"
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component Wl T ARITE
|—section
code 1002 5 A6 L H Hh @ code="56836-0",
displayName (@ displayName = " History of blood transfu-
|—]--code 1..1| R [sion",
codeSystem @-codeSystem="2.16.840.1.113883.6.1",
codeSystemName (@codeSystemName="LOINC"
\——\—-text }\i«i% 6&'
|- |-—entry i 1. 52 4% H
Hrh@classCode="0OBS",
|--|--|--observation )
(@moodCode="EVN"
Code )
Hrh, @codeSystem="2.16.156.10011.2.2.1",
codeSystem @ codeSystemName =" L 4 {7 B % #% oc H
[—|—|-|-code 1..1] R . DE02.10.100.00
codeSystemName xS
@displayName=""4 Ifi s "
displayName
) Xof £85I S T A A L e
[--|--|--]--value xsi: type 1..1] R
(@xsi;type="ST"
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x 13 SHEETTERAK
B , i XY 848
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bR fF
component AL EATRITER
|--section
code o s 3 45 (R L H o @ code = "48765-2"

codeSystem @codeSystem="2.16.840.1.113883.6.1",
|- |--code 1..1| R |@displayName="Allergies, adverse reactions,

displayName alerts”

codeSystemName (@ codeSystemName="LOINC"
|| —text N3y
|--|--entry pul s s E|
|--|--|--observation
code

displayName H i, @codeSystem="2.16.156.10011.2.2.1",
| =[]~ l—code L1| R | o DE02.01.022.00

codeSystem @ codeSystemName=" T4 {5 B ¥4 oc H %"

codeSystemName

[—-]--]-]-value L.1| R |8 Egnflih, Hoh g ( @xsi: type="ST"
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| -section
code 57 1 P 82 245 1A L o @ code—"11369-6"
codeSystem (@ codeSystem="2.16.840.1.113883.6.1",
|--|--code 1..1| R |@displayName="HISTORY OF IMMUNIZA-
displayName TIONS"
codeSystemName (@ codeSystemName="LOINC"
|- [—text N3y
|--|--entry TR 45 Fh 4% H
|—-|--|--observation
code
displayName H i, @codeSystem="2.16.156.10011.2.2.1",
|~ ||| —code 11| R |~ R DE02.10.101.00
codeSystem @ codeSystemName= " T4 {5 B &4 o H s# "
codeSystemName
|—|—|-—|-value 1.1 R | B ik o 4 {5 @ xsi: type="ST"
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component MANLETRITCE
| —-section
code PN ST
displayName @ code="29762-2",
|--|--code 1..1| R |@displayName="Social history",
codeSystem @ codeSystem="2.16.840.1.113883.6.1"
codeSystemName (@codeSystemName="LOINC"
|- [—text NS
|--|--entry MAREH
H i @classCode="0OBS",
|--]--]--observation
@moodCode="EVN"
Code Ho,
codeSystem (@codeSystem="2.16.156.10011.2.2.1",
|--|--]--]--code 1..1| R |@codeSystemName=" T4 {5 B % #& j©.| DE02.10.097.00
codeSystemName Ht",
displayName @displayName="4> A 1"
BEA AT W A To L 245
) W4T HRML 5 TAE S KB X Tk 39
|—|—|--|-—value Xsi:type 1..1| R ) R
WA CHICE P B A SR A TG W R Y
AR, B [ @xsi:type="ST"
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component A& miMianER
| —-section
code
A& wm AR, Hrh @code="49033-4",
displayName (@displayName="Menstrual History",
|—|--code 1..1| R . . .
codeSystem (@ codeSystem="2.16.840.1.113883.6.1",
(@ codeSystemName="LOINC"
codeSystemName
|- [—text N3y
|--|--entry Aadi4H
H, @classCode="0OBS",
|--]--]--observation
@moodCode="EVN"
Code
codeSystem Hof, @codeSystem="2.16.156.10011.2.2.1" ,
|--|--]--]--code 1..1| R |@codeSystemName="T 4 {F2%EICHR", | DE02.10.102.00
codeSystemName @displayName="H 22t "
displayName
) X 2 AR SR (E
[--]--]-]--value xsi: type 1..1] R
@ xsi:type="ST"

6.9 REEET
6.9.1 KEBEHHFBMK
S B 4% H AL 20,

R 20 REEETEBEMK

ZEEA £ 2R ik

Tl IR A 2 T S AR DG I Bl B T Y J2 R I R B
LR

KIG 4 H 0.. % R2

6.9.2 HKEEETNTRERAMN

FIGE RN OCR A MK 21,
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21 REEEDITEAR
j XF IV 1) B o
TLE AW J& P FHL | LR LIIESE Ba e
bR fF
component KB TEATRICER
|--section
code S B L H b @code="10157-6"
displayName (@ displayName =" HISTORY OF FAMILY
|--]--code 1..1| R |MEMBER DISEASES",
codeSystem @codeSystem="2.16.840.1.113883.6.1" ,
codeSystemName (@ codeSystemName="LOINC"
|| —text NEEHR
|--|-—-entry Kt % H
HHp, @classCode="0OBS",
|—]--|—observation
@moodCode="EVN"
Code
codeSystem Hr, @codeSystem="2.16.156.10011.2.2.1",
|- |--]--]--code 1..1| R |@codeSystemName="T4{Fa¥JEICHR", |DE02.10.103.00
codeSystemName @displayName=" 2 i "
displayName
. XoF B SRR S TR AN A L el (S
[--|--|--]--value xsi: type 1..1| R
(@xsi;type="ST"
6.10 DEEHET
6.10.1 DEEHEHHFBEHK
DA EAT R EHE SR 22,
F* 22 DEEHETEFBEHEK
XEAW S5 2R A
EIFILMEIE A /& H 1. R O SR R T PHZ PR B R 2 1y 2
BEBRRELH 1.. R 05 R AR
1O 5 4%H 1.. R WRINTEOES
54 H 0.. R2 id Sk S
H A B I 45 B 0.. R2 o A BE ]
K9 st ] 5% H 0.. R2 O 53 & v B ]
Mz RE AR & H 0.. R2 1o SRk 2 i 44 B
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xr 22 (&)
% H 4%k 24 PN ik
VO EE S W i 5% H 1. % R 1 5% 7Y B 12 W 4 )
HoAth 7Y B2 12 Wi i 4% H 0..1 R2 it s At VY B2 12 W 4
B 44 A 4% H 0.. % 0 i v B 44 AR K 4
FAR AR g5 % H 0. % R2 iR T AR A G
PR EL/E RS 3= 0.. R2 10 SR OGS 25 W) 4 B T A
HAbab & % H 1.1 R 0 s HA AL
AL R A & H 0..1 R2 0 SRAR A BE R A1
o 1 e AR 2% H 0.1 R2 I 3 1 P VA AR
TAEEIRIES & H 1.1 R TSR T AT B U I 44
TH&E 1.1 R iC 3 2R IS 8L
6.10.2 DEEHETTERAM
TPARFRE TR NI 23,
*x23 DEZEHETTERAK
JEER 4 K & 1 A | 2ok AESE 30N xﬁnjﬁ?%ﬁz}}éﬁ
PR IRAF
component PAFHTEYRITE
|—-section
|| --code displayName | 1..1 | R |, @displayName=""T 4 F 4"
|| —text INES T
|- |--entry BEY7 AL FL % £ FR % B
O eation classCode Hrr, @classCode="OBS",
moodCode @moodCode="EVN"
code
e eode displayName a1l r Hrp s@codeSystem:"2.16.156.10011.2;2.1", DEOS.10.026.00
codeSystem @ codeSystemName=""T2E {5 K 46 B 7"
codeSystemName
||| |--value 1.1| R |[H, @xsi:type="ST"
|- |--entry BHEFMEA
| |— | —Observation classCode gq: ,@classCode="0BS",
moodCode @moodCode="EVN"
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F 23 (&)

. XF IV 1) B o
JLE AR J& Pk FR | 2R UL 5 il iR e
bR fF
code
. Ho, @displayName=" 8 #& J AR 5",
displayName
[-=[=-1-]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE02.01.060.00
deSyst .
codesystem @codeSystemName=" T 4= {5 B34 7c H %"
codeSystemName
BE LA Hoh @xsi: type="CD",
|--|--|--|--value 1..1| R |@codeSystem="2.16.156.10011.2.3.1.271",
@codeSystemName=" & Z KR LILFE"
|--[-—entry EC=9) =2 3= |
classCode Hoi, @classCode="0OBS",
|—]--|—Observation
moodCode @moodCode="EVN"
code
: H, @displayName="[]1(&)& 5",
displayName
[-=[--]-—|-code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE01.00.010.00
deSyst .
codemystem @codeSystemName=" T 4= {5 B3I C H #"
codeSystemName
‘——‘——|——‘——Value 1..1 R /H\:':F' v@XSiltype:”ST”
|- --entry FEBE T4 H
classCode Hh, @classCode="0OBS",
|--|--|--Observation
moodCode @moodCode="EVN"
code
. H, @displayName="{¥ [z 5",
displayName
[--|--|--]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE01.00.014.00
deSyst .
cocdemystem @ codeSystemName="T 4 {5 B IE L H F"
codeSystemName
|—|—|--]-—value 1.1 | R |HH,@xsi:type="ST"
|--|-—-entry A BT | 45 H
classCode
|--|--|--organizer
moodCode
|| -—|--statusCode WEbRE
[--|--|--component 1..1| R
classCode A B H Wi ], HH @ classCode="0OBS",
|—-]--]-—|-—observation ]
moodCode (@moodCode="EVN"
Hrp, @codeSystem="2.16.156.10011.2.2.1",
[—|—|-|-]-code 1..1| R -~ DE06.00.092.00
@ codeSystemName=""T 4= {5 & $ ¥ c H #"
[—]-—]-—]-—|-value 1.1 R | Hrh, G H@xsi:type="TS"
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F 23 (&)

. XF IV 1) B o
JLE AR J& Pk FR | 2R UL 5 il iR e
bR fF
[--]--|--component 1..1| R
classCode H B H e Ja] , H i @ classCode="OBS",
|—-]--]—|-—observation ]
moodCode @moodCode="EVN"
Hrr, @codeSystem="2.16.156.10011.2.2.1",
|- 1-—[~[-|--code 1.1 R | N A DE06.00.017.00
@codeSystemName=""T 4= {5 B3 #Ec H #"
|- ||| —]--value 1.1| R |HA 5 H@xsi:type="TS"
|--|-—entry & AR 2% H
classCode H, @classCode="OBS",
|—]--|—observation
moodCode @moodCode="EVN"
code
. Hp, @displayName="2% % H #5} & ",
displayName
|--]--|--]--code 1..1 R |@codeSystem="2.16.156.10011.2.2.1", DE04.01.018.00
deSyst
codemystem @ codeSystemName=""T 4 {5 B 5 C H F"
codeSystemName
[--]--]--]--value 1.1 | R | HP, 5t H@ xsi:type="TS"
|--|—entry MmizJR K& H
classCode Hor, @classCode="0OBS",
|--|--|--observation
moodCode @moodCode="EVN"
code
. Horp, @displayName="§LiZ R K",
displayName
[--|--|--]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE05.10.053.00
deSyst , S
codesystem @codeSystemName=""TT4 {5 B &I c H 7"
codeSystemName
|—=]--]-|--effectiveTime 1..1 w2 3 WEffE), b @xsi:type="ST" DE06.00.062.00
[--]--]--]--value L.1| R |HH, @xsi:type="ST"
|--|—entry FAEZW g4 H
classCode Hr, @classCode="0OBS",
|--|--|--observation
moodCode @moodCode="EVN"
code
. Hrp, @displayName="p4 £ 2 Wi g fig ",
displayName
|- |--]--]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE05.10.024.00
deSyst .
codemystem @codeSystemName=" T 4= {5 B 54 c H #"
codeSystemName
|--|--|--|--]--qualifier
[--]--|--]--|--|-name 1.1| R |H, @displayName="74 [ i2 K 4 ih "
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F 23 (&)

— " . . X B s TT
ST # AR B | 2k B 15 H A e
PR R4
H,@xsi:type="CD",
|- |--|--]--value 1..1| R |@codeSystem="2.16.156.10011.2.3.3.11.1",
@ codeSystemName= "2 WLt % (ICD-10)"
|--|--|--]—entryRela- 3 ‘
. . 1.1| R |#iEREMREEE
tionship
|—-|—|—|—|--observa- classCode R Hoi, @classCode="0BS",
1..1
tion moodCode @moodCode="EVN"
code
displayName Hrp, @codeSystem="2.16.156.10011.2.2.1",
[—|—|—|-]-]-code 1..1| R L DE05.10.113.00
codeSystem @codeSystemName="TI 4 {5 B 5 ¥s 70 H %"
codeSystemName
Hrp, @xsi:type="CD",
|--|--]--]-]--|--value 1..1| R |@codeSystem="2.16.156.10011.2.3.1.148",
@ codeSystemName="45 & F T {CAL K"
|--|-—entry Al VG B2 12 W 4 b 45 H
classCode H, @classCode="0OBS",
|--]--|--observation
moodCode @moodCode="EVN"
code
. Hrr, @displayName="74 B2 Wr 4 i " »
displayName
|=-|-|-]-code 1.1| R |@codeSystem="2.16.156.10011.2.2.1", DE05.10.024.00
deSyst
codemystem @ codeSystemName=""T 4 {5 B 5 c H 7"
codeSystemName
|--|--|--]--|--qualifier
[--]--]-—]-—|-—|—name 1..1| R |H+,@displayName="HMh ¥ [ 2 Wi 4 15 "
H, @xsi: type="CD",
|--|--|--|--value 1..1| R |@codeSystem="2.16.156.10011.2.3.3.11.1",
@ codeSystemName= "2 Wi {05 % (ICD-10)"
|--|--entry hE G A RS 4 B
classCode Hr, @classCode="0OBS",
|--|--|--observation
moodCode @moodCode="EVN"
code
. Horp, @displayName =" & 5 % L5 ",
displayName
[--|--]--]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE05.10.130.00
deSyst .
codesystem @ codeSystemName=" T 4= {5 & %4 oc H #"
codeSystemName
|- |--|--|--]--qualifier
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& 23 (82)

j i X 52 1 S8R
JLE AR J& Pk FR | 2R UL 5 il iR e
PR RAT
[--]-|-—]-|-|-name 1..1| R |H,@displayName=""H"[&Jz5 & 05"
;;I\:E'j 9
@codeSystem="2.16.156.10011.2.3.3.14",
[--]-]--]--value L.1| R
@ codeSystemName=" 1 [& Jj5 iiF 73 25 51015
% GB/T 15657)" . @xsi: type="CD"
|--|--|--|--entryRela- o
i LR R A H
tionship
|--|--|-|-|--observa- classCode Hrip, @classCode="0OBS",
tion moodCode @moodCode="EVN"
code
displayName Hfr, @codeSystem="2.16.156.10011.2.2.1",
|||~ |~|~|—code 1| R o DE05.10.130.00
codeSystem @ codeSystemName= " T4 {5 8 ¥ 4fi oc H 5"
codeSystemName
[--]--|--]--|--qualifier
|--]--]--]--]--|--name 1..1| R |H,@displayName=""+1 [EJF &g "
/kl\i rl—] b
@codeSystem="2.16.156.10011.2.3.3.14",
|—|--|-]—|-—|-value 1.1| R
@codeSystemName =" H [ J5 iIF 43 25 5 18 1)
Z (GB/T 15657)" ,@xsi:type="CD"
|--|--|--|--entryRela-
o L] R
tionship
|--|--|--|--]--observa- classCode Hr, @classCode="0OBS",
tion moodCode @ moodCode="EVN"
code
displayName Hfr, @codeSystem="2.16.156.10011.2.2.1",
[===[=1--[-[--code L.1| R o DE05.10.113.00
codeSystem @codeSystemName=" T4 {5 & 55 o0 H #*"
codeSystemName
Hp,@xsi:type="CD",
|--|--]--|-]--|--value 1..1| R |@codeSystem="2.16.156.10011.2.3.1.148",
@ codeSystemName= "4 & 5 )T LA K"
|--|--entry F AR KA 45 % H
classCode H o, @classCode="PROC",
|--|--|--procedure
moodCode @moodCode="EVN"
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& 23 (82)

B N N . X B s TT
T % 4R b S| e ) 5 3 e
PR R4
code Hh, @xsi:type="CD",
displayName @codeSystem="2.16.156.10011.2.3.3.12",
|~ ||| —code L1| R | o ‘ DE06.00.093.00
codeSystem @ codeSystemName = " F K (# 1E) /415 %
codeSystemName (ICD-5-CM)
|--|—entry KW 2 PR H
classCode Hoi, @classCode="0BS",
|--|--|--observation
moodCode @moodCode="EVN"
code
; Horp, @displayName=" G524 ¥) 4 Fr" .
displayName
[--|--|--]--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE08.50.022.00
deSyst .
codenystem @codeSystemName=""T 4= {5 B 5 c H #"
codeSystemName
|--|--|--|--value 1..1| R |H¥,@xsi:type="ST"
|--|--|--|--entryRela- - )
o LA | R KEZIE
tionship
|—-|—|—|—|--observa- classCode Hop, @classCode="0OBS",
tion moodCode @moodCode="EVN"
code
. Hrr, @displayName="JC 259 Fi%L" .
displayName
[--|--]--]--]--|--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE06.00.136.00
deSyst .
codenystem @ codeSystemName=" T 4= {5 & %4 oc H #"
codeSystemName
|--|--]--]--]--|--value 1..1| R |H,@xsi:type="ST"
|--|--|--|--entryRela- ) Lo
A _ 1.1| R |24 AR IEN
tionship
|- |—|—|—|-—-Observa- classCode Ho, @classCode="0OBS",
tion moodCode @moodCode="EVN"
code
; Horp, @displayName="245 %) A & 5 15 80"
displayName
[--|--]--]--]--|--code 1..1| R |@codeSystem="2.16.156.10011.2.2.1", DE06.00.129.00
deSyst , S
codenystem @codeSystemName=" T 4= {5 B3 c H #"
codeSystemName
[—|—|—|—|—|—value 1.1 R |Hrh,@xsi:type="ST"
|--|--|--|--entryRela- . ‘
o LR | et f 2 6 A
tionship
|—-|—|—|—|--observa- classCode Hop, @classCode="0OBS",
tion moodCode @moodCode="EVN"
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& 23 (82)

} XTI 14 B4 T
JLE AR J& M HA| 2R RS BYS .
PR RAT
code
displayName Horfr, @codeSystem="2.16.156.10011.2.2.1",
[-=[-]—=|-]-]-code 1.1| R o DE06.00.164.00
codeSystem @codeSystemName=""TT/: {5 B C H "
codeSystemName
Hp, @xsi: type="CD",
[--|--]--|--]--|--value 1..1| R |@codeSystem="2.16.156.10011.2.3.1.157",
@ codeSystemName= "1 24 ffi jj 2 ) {R i & "
|--|--entry HAahab e 4 H
classCode Hoi, @classCode="0OBS",
|--|--|--observation
moodCode (@moodCode="EVN"
code
displayName Hrr, @ codeSystem="2.16.156.10011.2.2.1",
[-=[--]-—|-code 1..1| R o DE06.00.251.00
codeSystem @codeSystemName=""TT {5 B Cc H F*"
codeSystemName
|—-]--]--]--value 1..1| R |H,@xsi:type="ST"
|--|-—-entry MRS A A1 2% H
classCode Hh, @classCode="0OBS",
|--|--|—-Observation
moodCode @moodCode="EVN"
code
displayName Hif, @codeSystem="2.16.156.10011.2.2.1",
|~ ||| —code L1 R o DE05.01.021.00
codeSystem @ codeSystemName="TI 4 {5 B £ ¥ oo H %"
codeSystemName
Hd, @xsi:type="CD",
|- |--|--|--value 1..1| R |@codeSystem="2.16.156.10011.2.3.3.11.2",
@ codeSystemName="%F R0 2 (ICD-10)"
\”\”entry EEEUW&%Z%E
classCode Hh, @classCode="0OBS",
|--|--|--observation 1.1| R
moodCode (@moodCode="EVN"
code
displayName Hif, @codeSystem="2.16.156.10011.2.2.1",
[—|—|-|-code 1.1 R e DE02.01.039.00
codeSystem @codeSystemName=""T 4 {5 & ¥ c H F"
codeSystemName
|—]--]-—]-value 1..1 | R |HH,@xsi:type="ST"
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& 23 (82)

j i X 52 1 S8R
JLE AR J& Pk FR | 2R UL 5 il iR e
bR fF
|- |—-entry & H
classCode
|--|--|--organizer
moodCode
|—|--|—-statusCode R
[--|--|--component 1..1] R
classCode B 77 (K0 2 A RS S of
|--]--]--|--observation ] )
moodCode @classCode="0OBS", @moodCode="EVN"
H, @codeSystem="2.16.156.10011.2.2.1",
[—|—|-|-]-code 1..1| R -~ DE02.01.044.00
@ codeSystemName=""T 4 {5 B 5 #EJc H %"
Hep B {H @xsi: type="CD",
[—]-—-]—]—]-value 1..1| R |@codeSystem="2.16.156.10011.2.3.1.248",
@codeSystemName=" [ J7 {4 & 2 HIAC i ="
[--|--|--component 1..1| R
| classCode P72 2 A0S S0
|—-]--]—|-—observation )
moodCode @classCode="0OBS", @moodCode="EVN"
H, @codeSystem="2.16.156.10011.2.2.1",
[—|—|—|-]-code 1..1| R -~ DE07.00.007.00
@ codeSystemName=""T 4 {5 B 5 C H F"
Horp, e @xsi: type="CD",
@codeSystem="2.16.156.10011.2.3.1.269",
[--|--|--]--]--value 1.1| R
@displayName= "3 $1 I T FEAS BE 7 (R 16"
@ codeSystemName="EJ7 it 3% )y AL %"
[--|--|--component 1..1| R
classCode 11 28 4 %1 . Hoh @ classCode="OBS" ,
|—-]--]—|-—observation
moodCode @moodCode="EVN"
H, @codeSystem="2.16.156.10011.2.2.1",
[—|—|-|-]-code 1.1| R | N -~ DE07.00.004.00
@codeSystemName=""T 4= {5 B3 #Ec H #"
Hop Bt H@ xsi:type="MO",
|- 1-—|-|-[--value 1.1| R B
@currency="75"
[--|--|--component 0..1] R2
classCode Bt 2% 4281, o @ classCode="OBS",
|--|--|--|--observation
moodCode @moodCode="EVN"
H i, @codeSystem="2.16.156.10011.2.2.1",
|||~ |~ | —code 1..1] R DE07.00.010.00

@codeSystemName=" T 4= {5 B %4 c H #"
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& 23 (82)

Xt 06 0 7
T AR i L8| 2ok P 55 H 34 ?W
NI

Hp B @ xsi:type="MO",

[—=1----[--value 1.1] R .
@currency="J0"
|—|--|-—-component 0..1 ] R2
' classCode A N FH R 4 %, R
|—|-|-|-—observation ; -
moodCode @classCode="0OBS", @moodCode="EVN"

Hp, @codeSystem="2.16.156.10011.2.2.1",
[—|—|—|-]-code 1..1| R -~ DE07.00.001.00
@codeSystemName=""£ {5 B C HR*"

;H\:EP ’ﬁﬂ%ﬁﬁ@xsi:type:"M()” )

"

[-=]-]-]-|--value L.I} R —
@currency="70
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Mox A
(FRHEM 3
I 173 #2345 7R

(? xml version="1.0"encoding = "UTF-8"7)
(ClinicalDocument xmlns = "urn;hl7-org.:v3"xmlns.mif = "urn.hl7-org.v3/mif"
xmlns.xsi = "http.//www.w3.org/2001/XMLSchema-instance"

xsi;schemalocation = "urn;hl7-org.:v3 ..\sdschemas\SDA.xsd")

(realmCode code = "CN"/)
(typeld root = "2.16.840.1.113883.1.3"extension = "POCD_MT000040" /)
(templateld root="2.16.156.10011.2.1.1.21"/)

(- SRR -
(id root ="2.16.156.10011.1.1"extension = "RNOO1" /)

(code code = "C0001"codeSystem = "2.16.156.10011.2.4" codeSystemName = " T 4= {5 B = R 4%

R ZE") (/code)
(title) g I HEEE (/title)

U SCRYHLAS A Bt ] —-)
(effectiveTime value = "20121024154823"/)

(confidentialityCode code = "N"codeSystem = "2.16.840.1.113883.5.25"
codeSystemName = "Confidentiality"displayName = "1F % )5 A {£ 2528 5" />

(languageCode code = "zh-CN" /)

(setId/)

(versionNumber/)

(recordTarget typeCode = "RCT"contextControlCode = "OP")
(patientRole classCode = "PAT")

U R AR S
(id root = "2.16.156.10011.1.2" extension = "201102113366666" /)

(L iR 5
(id root ="2.16.156.10011.1.19"extension = "MS201102113366666" /)

(addr use="H")
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(houseNumber)xx 5 xx /NX xx #4 xx BLJT (/houseNumber)
(streetName)x JCiH (/streetName)
(township)xx % fH (/township)
(county)xx [X (/county)
(city)xx Hi{(/city)
(state)xx 44 (/state)
(postalCode)999999( /postalCode)
{/addr)
(- BHEHTE -
(telecom value = "020-87815102"/)
{(patient classCode = "PSN"determinerCode = "INSTANCE")

O —BE B MHIE SR
(id root = "2.16.156.10011.1.3"extension = "420106201101011919" /)
(- BEWS -
(name) % /NHBH ( /name)
U — PR )
(administrativeGenderCode code = "1"codeSystem = "2.16.156.10011.2.3.3.4"
codeSystemName = " Az B P4 I {L A% 3 (GB/T 2261.1)"/)
(birthTime value = "20080101"/)
1 — B IRDIR B AR RS )
(maritalStatusCode code = "10"displayName = " R {§"
codeSystem = "2.16.156.10011.2.3.3.5"codeSystemName = " #§ {H IR 4 A0S K (GB/T 2261.2)" /)
- R -
(ethnicGroupCode code = "01"displayName = "y Ji&"
codeSystem = "2.16.156.10011.2.3.3.3"codeSystemName = " &% 2% HI 4L 3¢ (GB 3304)" /)

- TAERA -

(employerOrganization)

(name) T VE ¥} 4 FK (/name)
(telecom value = "010-99999999" )( /telecom)

(/employerOrganization)

U =—-BOl R G-
(occupation)
(occupationCode code = "17"codeSystem = "2.16.156.10011.2.3.3.13"
codeSystemName = " POV R (S N B A8 7H 36 (GB/T 2261.4) "displayName = "JH 51" /)
(/occupation)

{/patient)
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(/patientRole)
(/recordTarget)
(-

(author typeCode = "AUT"contextControlCode = "OP")
(- @ EE -
(time value = "20120909112212" /)
(assignedAuthor classCode = "ASSIGNED")
(id root ="2.16.156.10011.1.7"extension = "234234234"/)
(- @RS -
(assignedPerson)
(name)Z= %% A= ( /name)
{/assignedPerson)
L — @ -
(representedOrganization)
(id root ="2.16.156.10011.1.5"extension = "0187565656" /)
(name)xx [E ¢ ( /name)
(/representedOrganization)
(/assignedAuthor)
(/author)

- R -
(custodian typeCode = "CST")
(assignedCustodian classCode = "ASSIGNED")
(representedCustodianOrganization classCode = "ORG"determinerCode = "INSTANCE" )
(id root = "2.16.156.10011.1.5"extension = "EJF DAV 4S5 " />
(name)xx [E % {/name)
{/representedCustodianOrganization)
(/assignedCustodian)

(/custodian)

(! —HAth 2 5% (B & A\) @typeCode : NOT (ugent notification contact), [& &l . %725 A [A] (9=
H5& -
(participant typeCode = "NOT")
(! Bk HR N\ @classCode: CON, & & {8 , £ /n M (4 Z2HK RN )
(associatedEntity classCode = "ECON")
O -BRRNEG, Rm 5 BFHZRI LR
(code/)
(0 —BRR Ak
(addr)
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(houseNumber)xx 5 ( /houseNumber)
(streetName)xx K jf (/streetName)
(township)xx % fH (/township)
(county)xx H.(/county)
(city)xx Hi{(/city)
(state)xx 44 (/state)
(postalCode)02368¢(/postalCode)

{/addr)

(1 i )

(telecom use = "H"value = "tel;999-999-999999" /)

(0 -BRR AN

(associatedPerson classCode = "PSN"determinerCode = "INSTANCE")
(1 R H)
(name) 7k = ( /name)

(/associatedPerson)

(/associatedEntity)
(/participant)

(relatedDocument typeCode = "RPLC")
(parentDocument)
(id/»
(setId/)
(versionNumber/)
(/parentDocunent)

(/relatedDocument)

(component)

(structuredBody)

() — LR ERTE —-)
(component)
(section)
(code code = "30954-2"displayName = "STUDIES SUMMARY"
codeSystem = "2.16.840.1.113883.6.1"codeSystemName = "LOINC" /)
(text/)
(V- IR
(entry typeCode = "COMP")
(organizer classCode = "BATTERY"moodCode = "EVN")
(statusCode/)
(! - ABO [ Y --)

WS/T 500.1—2016
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{component typeCode = "COMP"contextConductionInd = "true")
(observation classCode = "OBS"moodCode = "EVN")
{code code = "DE04.50.001.00"
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [ A {Z A ICHZE" /)
(value xsi.type = "CD"code="1"
codeSystem = "2.16.156.10011.2.3.1.85" codeSystemName = "ABO |fif %I/t f5 3% "displayName = "A #I" /)
(/observation)
(/component )
(! - Rh % -
(component typeCode = "COMP"contextConductionInd = "true")
(observation classCode = "0OBS"moodCode = "EVN")
{code code = "DE04.50.010.00"
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " P A (& BT HE" /)
(value xsi.type = "CD"code="1"
codeSystem = "2.16.156.10011.2.3.1.250"codeSystemName = "Rh [fil %I {{ %% "displayName = "[H{E" /)
{/observation)
(/component )
(/organizer)
(/entry)
(/section)

{/component)

(= BEES &Y -
{(component)
(section)
(code code = "11348-0"displayName = "HISTORY OF PAST ILLNESS"
codeSystem = "2.16.840.1.113883.6.1"codeSystemName = "LOINC" /)
(text/)
- B CE AN —)
(entry)
(observation classCode = "OBS"moodCode = "EVN")
(code code = "DE02.10.026.00"displayName = "% 55 52 (&AM "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " /45 B HZE" /)
(value xsi.type = "ST" %% & (& IMGF) ik (/value)
(/observation)
(/entry)
O — B G —-)
(entry)
(observation classCode = "0OBS"moodCode = "EVN")
(code code = "DE02.10.008.00"displayName = "{& YLy s "
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codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " 14 {E B 5 G L H 7"/
(value xsi.type = "ST") ik (/value)
(/observation)

(/entry)

(entry)
{observation classCode = "0OBS"moodCode = "EVN")
(code code = "DE02.10.061.00"displayName = "F- R "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " T A: {5 BT HFE" /)
(value xsi.type = "ST") TR S ik (/value)
(/observation)

{/entry)

(I IFFEEH-
(entry)
{observation classCode = "OBS"moodCode = "EVN")
(code code = "DE02.10.098.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A {Z B#IE 6 H 5+ "displayName = "#EHE " /)
(value xsi.type = "ST") Xt B HIEF B AN R (/value)
(/observation)
(/entry)
(/section)

{/component)

- By &y -
{(component)
(section)
(code code = "56836-0"displayName = "History of blood transfusion"
codeSystem = "2.16.840.1.113883.6.1"codeSystemName = "LOINC" /)
(text/)
(entry)
(observation classCode = "0BS"moodCode = "EVN" )
{code code = "DE02.10.100.00"displayName = "#fi 52 "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " P A {5 BT HE" /)
(value xsi;type ="ST" )% Ifil 57 ik (/value)
(/observation)
(/entry)
(/section)

{/component)
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(U — e Ey -
(component)
(section)
(code code = "48765-2"displayName = "Allergies, adverse reactions, alerts"
codeSystem = "2.16.840.1.113883.6.1"codeSystemName = "LOINC" /)
(text/)

(s EH-
(entry)
{observation classCode = "OBS"moodCode = "EVN")
(code code = "DE02.10.022.00"codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " T34 {5 B 845 ¢ H 5 "displayName = "j s " /)
(value xsi:type = "ST") {3 BEAE A& A= i B &0 09 TE 44 R < /value)
(/observation)
(/entry)
(/section)

{/component )

Cl =Ty 4 b ol 24 )

{(component)
(section)
(code code = "11369-6"codeSystem = "2.16.840.1.113883.6.1"
displayName = "HISTORY OF IMMUNIZATIONS"codeSystemName = "LOINC"/)
(text/)
(entry)
{observation classCode = "OBS"moodCode = "EVN")
{(code code = "DE02.10.101.00" displayName = " i [jj 32 Ff o "
codeSystem ="2.16.156.10011.2.2.1"codeSystemName = " T4 {=Z B IC HE") (/code)
(value xsi.type ="ST") T [ 42 Fh 52 # & ( /value)
(/observation)
(/entry)
(/section)

{/component)

() ANt B
{(component)
(section)
(code code = "29762-2"displayName = "Social history"

codeSystem = "2.16.840.1.113883.6.1"codeSystemName = "LOINC" /)
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(text/)
QIO EEY
(entry)

{observation classCode = "OBS"moodCode = "EVN")
{code code = "DE02.10.097.00" codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " A4 {Z B ¥ 6 H 5 "displayName = "~ A" /)
(value xsi:type ="ST") & A NAEE M0 SA To I il 259 55 08
U OIS AR S R A T T FE 9 b 2B S P 0 o 43 A o A DG 6 e SR R 4 3 ¢/ value)
{/observation)
(/entry)
(/section)

{/component)

(A iti-)
(component)
(section)
(code code = "49033-4"displayName = "Menstrual History"
codeSystem = "2.16.840.1.113883.6.1"codeSystemName = "LOINC" /)

(text/)
W —-HasskE-
(entry)

{observation classCode = "OBS"moodCode = "EVN")
(code code = "DE02.10.102.00"codeSystem = "2.16.156.10011.2.2.1"
codeSystemName = " /(% B 8486 H 3 "displayName =" H & " /)
(value xsi.type = "ST") Xt B H H & B 403 R (/value)
(/observation)
(/entry)
(/section)

{/component)

=K E AT
{(component)
(section)
{code code = "10157-6"displayName = "HISTORY OF FAMILY MEMBER DISEASES"
codeSystem = "2.16.840.1.113883.6.1"codeSystemName = "LOINC" /)
(text/)
(entry)
{observation classCode = "OBS"moodCode = "EVN")
(code code = "DE02.10.103.00"displayName = " jik 51"

codeSystem="2.16.156.10011.2.2.1"codeSystemName = " [T 4= {=Z B IC HE") (/code)
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(value xsi;type = "ST") FK it :1 ik (/value)
(/observation)
(/entry)
(/section)

{/component )

(- TAEREFET -
(component)
(section)
(code displayName = " A EH{}:")(/code)
(text/)
(entry)
(observation classCode = "0OBS"moodCode = "EVN")
(code code = "DE08.10.026.00"displayName = " EJ7 L Bl & 44 Fr"
codeSystem ="2.16.156.10011.2.2.1"codeSystemName = " [ 4= {=Z B8 Jc H 7" ) (/code)
(value xsi.type = "ST") % ¥R (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS"moodCode = "EVN")
(code code = "DE02.01.060.00"displayName = " f& & K RIS "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [T A4: {5 B #E L H#") (/code)
(value xsi.type="CD"code="1"
codeSystem = "2.16.156.10011.2.3.1.271"codeSystemName = " g F K R LS ") (/value)
(/observation)

(/entry)

(entry)
{observation classCode = "OBS"moodCode = "EVN")
(code code = "DE01.00.010.00" displayName = "[] (£&)i2 5"
codeSystem ="2.16.156.10011.2.2.1"codeSystemName = " P4 {5 BB L HE") (/code)
(value xsi:type = "ST")[J(&)i2 5 (/value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS"moodCode = "EVN")
(code code = "DE01.00.014.00"displayName = "{F [ 5"
codeSystem ="2.16.156.10011.2.2.1"codeSystemName = " [ 4= {Z B IC HE") (/code)
(value xsi.type = "ST" ) {EBE 5 (/value)
(/observation)

32



WS/T 500.1—2016

(/entry)

(entry)
(organizer classCode = "BATTERY"moodCode = "EVN")
(statusCode/)
(component)
(observation classCode = "0OBS"moodCode = "EVN")
(code code = "DE06.00.092.00"displayName = " A Pz H HH i} [a] "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [T A4: {5 B #E 7L H ") (/code)
(value xsi.type = "TS"value = "20130102123422")(/value)
(/observation)
(/component )
(component )
{observation classCode = "0BS"moodCode = "EVN")
(code code = "DE06.00.017.00"displayName = " H} [ H 9 i [a] "
codeSystem ="2.16.156.10011.2.2.1"codeSystemName = " T4 {Z B IC HE") (/code)
(value xsi.type = "TS"value = "20130112123422")(/value)
(/observation)
(/component )
{/organizer)

(/entry)

(entry)
(observation classCode = "0BS"moodCode = "EVN" )
(code code = "DE04.01.018.00"displayName = " & J55 H Hms}[E]"
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [ A4 {Z BB L H % ") (/code)
(value xsi.type = "TS"value = "20121202123422")(/value)
(/observation)
(/entry)
(entry)
(observation classCode = "OBS"moodCode = "EVN")
(code code = "DE05.10.053.00"displayName = "gi2 JR K"
codeSystem ="2.16.156.10011.2.2.1"codeSystemName = " P4 {5 B %L HFE") (/code)
(1 — §kiz H mf [] DE06.00.062.00--)
(effectiveTime value = "20130202123422"/)
(value xsi.type = "ST") L2 & K #i iR ( /value)
(/observation)

(/entry)

(I —%H 12—
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(entry)
{observation classCode = "OBS"moodCode = "EVN")

{code code = "DE05.01.024.00"displayName = " &2 Wi 4w i3 "
codeSystem = "2.16.156.10011.2.2.1" codeSystemName = " [ 4 {5 B 5 7L H F") (qualifier) (name
displayName = "PHE 2 W gL ") ( /name) { /qualifier)(/code)

(value xsi.type = "CD"code="1

n

codeSystem ="2.16.156.10011.2.3.3.11.1" codeSystemName = "2 Wi {{ i % (ICD-10) "displayName = " i
BEiZW" /)
{entryRelationship typeCode = "COMP")
(observation classCode = "OBS"moodCode = "EVN")
(code code = "DE05.10.113.00"displayName = "Jp5 {#5 45 |9 /LS "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [ A {Z B A ICHZE" /)

(value Xsi:type ="CD"code="1"

P

codeSystem = "2.16.156.10011.2.3.1.148" codeSystemName = " i 5 % I {0 i % "displayName = "J5 AL ")
(/value)
{/observation)
(/entryRelationship)
(/observation)

(/entry)

(I —%H:2W-)
(entry)
{observation classCode = "OBS"moodCode = "EVN")

(code code = "DE05.01.024.00" displayName = " H.{th 7§ £ i2 W g 15 "
codeSystem = "2.16.156.10011.2.2.1" codeSystemName = " [ 4 {5 B 576 H F ") (qualifier) (name
displayName = "HAB PG E 2 W 4% ") ( /name) ( /qualifier) (/code)

(value xsi.type = "CD"code="1"
codeSystem = "2.16.156.10011.2.3.3.11.1"codeSystemName = "2 Wi{ i 3 (ICD-10) ") ( /value)

(/observation)

(/entry)

(entry)
{observation classCode = "OBS"moodCode = "EVN")

(code code = "DE05.10.130.00"displayName = " H1 [ 55 45 L5 "
codeSystem = "2.16.156.10011.2.2.1" codeSystemName = " [ 4 {5 B IE L H F") (qualifier) (name
displayName = "H1[E 544 L") ( /name) ( /qualifier) (/code)

(value xsi;type = "CD"code = "1"codeSystem = "2.16.156.10011.2.3.3.14"
codeSystemName = "t E i HE /02K 5 0S5 3 ( GB/T 15657)") (/value)

(entryRelationship typeCode = "COMP")

{observation classCode = "0BS"moodCode = "EVN")
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{code code = "DE05.10.130.00"displayName = " i £ JFfR S "
codeSystem = "2.16.156.10011.2.2.1" codeSystemName = " [ 4 {5 B 57T H F") (qualifier) (name
displayName = "H1EJF{ECHE") ( /name) { /qualifier)(/code)

(value xsi.type ="CD"code="1"
codeSystem = "2.16.156.10011.2.3.3.14" codeSystemName = " {1 £ 55 iiF /-2 5405 3 ( CGB/T 15657)

"y (/value)
(/observation)

(/entryRelationship)

(entryRelationship typeCode = "COMP")
(observation classCode = "0OBS"moodCode = "EVN")
{code code = "DE05.10.113.00"displayName = "J5 {#5 55 19 (G "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " P A (& BT HE" /)
(value xsi.type = "CD"code="1"
codeSystem = "2.16.156.10011.2.3.1.148" codeSystemName = " 45 1 % IH /015 3£ "displayName = "5 A1)
(/value)

=

{/observation)
(/entryRelationship)
(/observation)

(/entry)

(entry)
{(procedure classCode = "PROC"moodCode = "EVN")
(1 — FA B ARAE %D DE06.00.093.00 —)
(code code = "1"codeSystem = "2.16.156.10011.2.3.3.12"
codeSystemName = "F- AR (FF) 445 5% (1CD-9-C) " /)
{/procedure)

(/entry)

(entry)
(observation classCode = "OBS"moodCode = "EVN")
(code code = "DE08.50.022.00"displayName = " J& 48 25 4 44 R "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " /45 B HZE" /)
(value xsi.type = "ST") K@ 25 4 P ( /value)
{entryRelationship typeCode = "COMP")
(observation classCode = "OBS"moodCode = "EVN")
(code code = "DE06.00.136.00"displayName = " S& & 245 4 F ="
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [ A {5 B A ICH "/
(value xsi.type = "ST") L@ 25Y ik (/value)
(/observation)
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(/entryRelationship)
(entryRelationship typeCode = "COMP")
{observation classCode = "0BS"moodCode = "EVN")
{code code = "DE06.00.129.00"displayName = "Z5 4 A~ K& 2 v/
1M "codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " T4 {5 BEIE L H F" /)
(value xsi:type ="ST") YA K b &L id 5% (/value)
(/observation)
(/entryRelationship)
{entryRelationship typeCode = "COMP")
(observation classCode = "OBS"moodCode = "EVN")
(code code = "DE06.00.164.00"displayName = " H1 2§ fifi 2K 5|
815" codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " P A5 B ¥IE T H F"/)
(value xsi.type ="CD"code="1"
codeSystem = "2.16.156.10011.2.3.1.157"codeSystemName = " 25 iff 2L (LS ") (/value)
(/observation)
(/entryRelationship)
(/observation)

(/entry)

(entry)
(observation classCode = "0OBS"moodCode = "EVN" )
(code code = "DE06.00.251.00"displayName = " Hfth = 2= 4b & "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [ A4 {Z A ICH " /)
(value xsi.type = "ST") HAth &£ 2= 4k & ( /value)
(/observation)
(/entry)
(entry)
{observation classCode = "OBS"moodCode = "EVN")
{code code = "DE05.01.021.00"displayName = "#E A< ¢ [K /LA "
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [ A {Z A& ICH "/
(value xsi.type = "CD"code="1"
codeSystem = "2.16.156.10011.2.3.3.11.2" codeSystemName = "% [ {7 3 (ICD-10) ") ( /value)
(/observation)

(/entry)

(entry)
(observation classCode = "0BS"moodCode = "EVN" )
(code code = "DE02.01.039.00"displayName = "SR{FE Ififtk 42"
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [P/ {Z Bt H %"/

(value xsi.type = "ST") H/EE ik 4 (/value)
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(/observation)

(/entry)

(= BHEH -
(entry)
(organizer classCode = "CLUSTER"moodCode = "EVN")
(statusCode/)
(component)
(observation classCode = "0OBS"moodCode = "EVN")
{code code = "DE02.01.044.00"
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " T 4= {5 B % #E 70 H # "displayName = " [E J7 {5
W 2 AR "/
(value xsi.type ="CD"code="1"
codeSystem = "2.16.156.10011.2.3.1.248"codeSystemName = " EJF (%[ 2L HCHE ") (/value)
(/observation)

(/component )

(component)
{observation classCode = "0BS"moodCode = "EVN")
{code code = "DE07.00.007.00"
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " T 4= {5 B #E 7 H # "displayName = " [ J7
5 A" (/code)
(value xsi.type ="CD"
codeSystem = "2.16.156.10011.2.3.1.269" displayName = "3 48 BR T JL A% B 97 1% & " codeSystemName =
"I S AR R /)
(/observation)

(/component )

(component)
(observation classCode = "OBS"moodCode = "EVN")
{code code = "DE07.00.004.00"
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " T4 {5 B % #E JC H  "displayName = "[ ]2 %%
M&m"/)
(value xsi.type = "M0"value = "400"currency = "J5") (/value)
{/observation)
(/component )
(component )
{observation classCode = "0BS"moodCode = "EVN")
{code code = "DE07.00.010.00"

codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " T A= {5 B ¥ 32 7 H F "displayName = "{¥ [ 2%
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FHaw"/>
(value xsi.type = "M0"value = "4000"currency = "J" ) (/value)
(/observation)
(/component )
(component)
{observation classCode = "0OBS"moodCode = "EVN")
{code code = "DE07.00.001.00"
codeSystem = "2.16.156.10011.2.2.1"codeSystemName = " [ 4: {5 B % ## 5C H # "displayName = "/~ A 7K
A" /)
(value xsi.type = "M0"value = "200"currency = "J5") (/value)
(/observation)
(/component)
(/organizer)
(/entry)
(/section)
{/component)
(/structuredBody)
(/component )

(/ClinicalDocument)
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